2D Vector Practice Name:

Adding and Subtracting Vectors

For each of the following draw a diagram and determine the resultant vector (both magnitude and
direction). Round all degrees to nearest whole degree, follow sig fig rules otherwise.

1. 15.6m East+27.9m North

P—

Mayn,'"uJe = J }56:, 4-277}
ﬂ A7 9m = 320/")
SN 0= 4o (2E) =61

1 5.

32.0,, €17 Noth of East

2. 25.4m East + 35.2m North

Majnfjfuc/e :\[QS.‘T: 352
A B = 43.4m

2 ~1 35.21-4 L 0
aS-‘TM Q: +0/) (35‘(',«,) = SLI.

Y3 St Nocth of Fost



Name:

2D Vector Practice
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2D Kinematics

5. Someone walks 51 m North, then 39 m West in 32.3 seconds, what is their average velocity?
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8. What are the horizontal and vertical components of the vector: 45.9 m/s, 12° above the
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Vector Components

7. What are the North and West components of the vector: 269 metres, 23° North of West
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E 9. Use vector components to add: S"‘o(\'l‘;/)/ raa/;h a//'q /4(4,«\
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10. Use vector components to add:
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